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Solve .

1. 

2. 

3. 

4. 

5. 

Use the Law of Sines, the Law of Cosines, or the Pythagorean Theorem to solve .

6. 

7. 

8. 

9.You are a surveyor measuring the width of a pond from point A to point B, You set up a transit point C on the bank in between A and B and measure an angle of . You also measure the distances from C to points A and B.  the distance from C to A is 56 feet and from C to B is 68 feet.  What is the width of the pond?









Answers:

1. 

2. 

3. 

4. 

5. 

6. 

7. 

8. 
9. about 74.4 feet.


11_6ac1.rtf	Page 1

image3.wmf
78,2,4

Abc

===

o


oleObject3.bin

image4.wmf
45,11,22

Bac

===

o


oleObject4.bin

image5.wmf
9,3,11

abc

===


oleObject5.bin

image6.wmf
25,26,5

abc

===


oleObject6.bin

image7.wmf
ABC

V


oleObject7.bin

image8.wmf
96,39,13

ABb

===

oo


oleObject8.bin

image9.wmf
90,4,11

Cab

===

o


oleObject9.bin

image10.wmf
48,5136

ABc

===

oo


oleObject10.bin

image11.wmf
73

o


oleObject11.bin

image12.wmf
43.0,107.4,52.7

bAC

»»»

oo


oleObject12.bin

image13.wmf
4.08,28.6,73.4

aBC

»»»

oo


oleObject13.bin

image14.wmf
16.2,28.7,106.3

bAC

»»»

oo


oleObject14.bin

image15.wmf
42.1,12.9,125.0

ABC

»»»

ooo


oleObject15.bin

image16.wmf
73.0,96.0,11.0

ABC

»»»

ooo


oleObject16.bin

image17.wmf
45,20.5,14.6

Cac

=»»

o


oleObject17.bin

image18.wmf
0

11.7,20.0,70.0

cAB

»»»

o


oleObject18.bin

image19.wmf
81,27.1,28.3

Cab

=»»

o


oleObject19.bin

image1.wmf
ABC

V


oleObject1.bin

image2.wmf
20,120,100

Bac

===

o


oleObject2.bin

